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QUESTION 1

A project has hundreds of old completed issues which are cluttering up the reports, searches, and dashboards.
The project administrator has the following requirements:

1.

He wants to hide the old issues.

2.

He wants to unhide issues, if needed.

3.

He wants to control whether he himself sees the hidden issues, so they do not clutter his own daily work. Which three
configurations, when combined, will meet these requirements? (Choose three.)

A. security level

B. project permission
C. workflow condition
D. project role

E. global permission

F. group

Correct Answer: BDF

QUESTION 2

Critical production bugs in a Jira Software project are hidden with an issue security scheme that has a single security
level.

Only project administrators are listed in the security level and granted the Set Issue Security permission.

A new requirement states that a few other Jira Core users, who have Browse Projects permission, should be able to see
the hidden issues. These users will vary per issue and be selected from across various groups.

What needs to be added to the security level?
A. Application access

B. User custom field value

C. Group custom field value

D. Project role
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E. Single Users
F. Group
Correct Answer: D

Reference: https://confluence.atlassian.com/adminjiracloud/configuring-issue-level-security776636711.html

QUESTION 3

You are prompted to perform a re-index after you have made configuration changes to a very large Jira instance.
Which reason would justify re-indexing only a project instead of a full re-index of the instance?

A. Workflow changes were limited to the project\\'s unique workflow.

B. Time tracking was modified for the project.

C. Only custom fields used by the project were modified.

D. Only project users would be affected by the re-index.

Correct Answer: C

Reference: https://confluence.atlassian.com/adminjiraserver079/search-indexing-950288998.html

QUESTION 4

Jon is a new Jira user. He reports that adding comments to Jira isn\\'t working as expected. When he attempts to
@mention a user, no list of available users is provided. Because he does not know everyone\\'s username, he is unable
to target comments to specific users.

What is the cause of this problem?

A. Jon does not have the Browse Users global permission.

B. Jon does not have the View Users project permission.

C. Jon does not have the correct field security permission for the Comment field.

D. The field configuration for the Comment field is not set to Autocomplete Renderer.

Correct Answer: D

Reference: https://community.atlassian.com/t5/Jira-questions/Can-t-Mention-other-users/gag-p/5238

QUESTION 5
You have a project with several issue types, associated unique workflows, and a number of components.

The decision has been made to have all new issues assigned automatically.

Latest ACP-100 Dumps | ACP-100 Exam Questions | ACP-100 Braindumps 3/4


https://www.pass4itsure.com/acp-100.html
https://www.pass4itsure.com/acp-100.html
https://www.pass4itsure.com/acp-100.html

. VCE & PDF https://www.pass4itsure.com/acp-100.html
g 2024 Latest passditsure ACP-100 PDF and VCE dumps Download
== / PassditSure.com

To that end, you\\'ve set default assignee(s) for the project lead, component leads, and removed the
Assignee field from the screens associated with the Create Issue operation.

One of the issue types is still being created without an Assignee.

What is the most likely cause of the problem?

A. The issue type\\'s field configuration for Component/s is not set to Required.

B. The default assignee for the issues\\' component is still set to Unassigned.

C. The post function Assign to Lead Developer is missing in the create transition.

D. Users creating this issue type do not have the Assign Issue permission.

E. The assignee is being set to Unassigned in the first post-function of the create transition.

Correct Answer: E
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